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rdor : () ok e v won st € v o v den 2 €
Instructions : All questions are compulsory. There are 22 questions.
(i) VA WEE 1] 7 7% Sfvegsedy @ €)@ v F 1 oiw fifa t
Question Nos. 1 10 7 are very short answer type questions. Each
question carries | mark.
(iif) W WWiw 8 § 13 F% oy3uly wer €1 wdw weT F 3 3w Faifta £
(FW W wez-drn 50 vl v §)
Question Nos. 8 to 13 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)
(v) W % 14 @ 20 35 Dizwla oo § | wow v o 5 iw Faffa €
(Fw ¥ we-dn 150w 7w )
Question Nos. 14 to 20 are long answer type questions. Each question
carrics 5 marks. (Maximum word-limit of answer is /50 words)
(v) W HO% 10, 16, 18, 20 W& 22 ¥ sinfes fawsey g g £
In Question Nos. 10, 16, 18, 20 and 22 internal options are given.

 NM-40A+ ' PT.O.
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[2]

(vi) Tfe wiftra o, fam wel & wefas sisa srgan vt kg g €, &
WA R I v/ aemmet % 1-1 fag fad?

Visually impaired students will write 1-1 point of speciality of that
places in the map-making questions.

(vii) a1 Wiya o el Wl ¥ IW, e @ T F WE | FAA
fargaw e

Hearing impaired students will write the long answer type questions
with points only.

(viif) Wt T9id 21 3R 22 o e | aia § | Fred fafea fagsti =1
e & 3R wefda & &) el W # 5 o iR €
Question Nos. 21 and 22 are related to identification or locating and
labelling of map, carrying 5 marks in each question.
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¥4

g frd wga €2 (1]
What do you mean by the death-rate?

A A FTe Guai® H SR Hel A Fgl aw s &2 (1]
What is the average score of human development index?
firgdt & i, frever) T 9Tg & e feed dafta €2 [1]

Making clay utensils, crafts and bamboo items are related to which industry?

1 2011 3 SATVAT ¥ ATER WA & TR o ¥ e v Al
L ¥ [1]

According to Census of 2011, which state of India has the highest
population density?

ofer # faremere Wit w=ht W A w2 [1]
What is the name of largest slum area in Asia?
siog ¥ T s afm sl v 2 (1]

Where is maximum amount of minerals found in Chhattisgarh?
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-7 OSHOR R UAF RAa M FeI A & ? [1]
Why Chhattisgarh is called Bowl of Rice?

w-8 o srum & v o &2 [3]
How is sex-ratio measured?

NNf-40A+

[3]

-9 i Rl % favguii e a e ¥ ? (3]
What are the benefits nations get by forming trading blocs?

a-10 i gia-wivdiea Yemnt w feumfh fafeg [1+1+1=3]

Write note on Australian Trans-continental Railway.

Haqar
OR

Zia-umaias et 1 feuoft fafeg)
Write note on Trans-Siberian Railway.
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we-11 i g T faw ) e Wl & I AR [1+1+1=3]

(37) v urilo w=ft wfrew = 1 faflag)
(%) @ wfrew wel T fire € 2
(7)) & e %) & o fafag )
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__—
Study the diagram given below and answer the following questions :

(a) Write the name of the rural settlement pattern.
(b) In which areas do you find the rural settiement pattern?
(c) Write one characteristic feature of the settlement pattern.

NM-40A+ P.T.O.
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w-12

w-13

-4

w-15

3w gda wardh ok fred frame & oor vard § R waRg) - [1%4+1%= 3]
Write the differences between life-time migrant and migrant by

last residence.

freht Tria WFe w1 e AR ER B o 2 [1+1+1=3]
How an urban package can be identified?

vra ¥ wRag F W -2 § § 2 W@ Rae ol @ T

o wret w1 quiF S [2+1+]1+1=5]
Which are the means of transport in India? Describe the factors

affecting the rail transport (any three).

J-dW yae F1 § ? |0 2y W) ¥ iR 9w weq At e
Al i S F ama € ? [2+3=5]

What is watershed management? Do you think it can play an
important role in sustainable development?
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w-16

-7

IAifeRE dFaw | Wefun fagia =y wEvew feey fean?
IAIRHIT WA HT W =i w1 qviE T

Who has given the theory of Demographic Transition first time?
Describe the demographic transition of three stages.

aqar
OR

e e # dEe feat e #1739 9R W@t #it sre
HifQ)

Who has given the concept of Human Development? Explain their
four pillars.

WA i Y ofre fererd §u e P % frea 9 ) wwwme

Write the definition of Human Geography and explain the scope of
human geography.

[1+4=5]

[2+3=5]

NM-40A+
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WoT-18  SEraret Tero O Siforey Tarer & wan e § 2 werare e o
Fiftrog qyparem H st wany (FE #W) | [2+3=5]

What do you mean by livestock farming and commercial animal
husbandry? Write the differences between livestock farming and
commercial animal husbandry (any three).

raar
OR

i F T 76w Fie & w swe § 2 s 5w e
wifttn wfw § = =7 s=w fafag

What do you mean by Commercial Agriculture and Truck Farming
Agriculture? Write any three differences between commercial
agriculture and truck farming agriculture.


https://www.studydiscuss.in

WA-19 WU AR AR D QU AR R EM P A w S
wru g e fafag) [1+1+1%+1%=5]

What is meant by pollution? How many types of pollution are there?
Write the reasons and diagnosis of any one pollution.

UTm-20 WRA ¥ e Wit ¥ vvEr $iv e A wgequl el w1 v
g [1+]1+]1+]1+]1=5]

Describe the important strategies for agricultural development
followed in the Post-Independence period in India.

Srerar

'OR
WRA ¥ Y- FvRT GRY ST Y, -3940 1 A0l ST
Describe the use of the land adopted by the department of land

revenue in India.

NM-40 A+ P.T.O.
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wvt-21  fava & voriifis dhaer gt F guiy g frer fargsit # vea am

I T AT IR-YhRawr F fad [1+1+1+]1+]1=5]
(A) STHITT TETEY F1 TE T HAGA A6 2N

(B) & fae 7R

(C) Fa-widtiew Yowrl & siftny —wm

(D) & SRSy ¥an Jige

(E) & 9% ¥50T®
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In the given political outline map of the world, identify following

points and write their names in your answer-book :

(A) The country with largest area in Africa continent

(B) A megalopolis

(C) The terminal station of Trans-continental Railway

(D) An international airport

(E) A major sea port

—————
NM-40A+
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WA-22  weg & femifen wefes F Preifes Y vewfie aw s9% T s
- # fafay [1+1+1+1+]1=5]

(A) TREd T % ger geEw e
(B) ¥ 1 whe-araew @
(C) werdt W faftfar sy wfcirsrn
(D) BT = Suiur

(E) o w1 wwam 9 firm
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In the sign marked map of Chhattisgarh, identify the following and

write their names in your answer-book :

(A) Main tributary river of Godavari River

(B) Iron-ore mines of Dantewada

(C) Dam project on Mahanadi River

(D) Power hub of Chhattisgarh

(E) Only one jute mill of Chhattisgarh

NM-40A+
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yRa % e SR At o Frefafaa w1 g oend G bl %
Y AqA

(A) ST I TR TGN KT IWGH &

(B) WRA I W FH HAG e T

(C) wewreg ¥ Jidia vag 1@

(D) WR@ 1 WAy 9 IEH T

(E) ftolt terd S &1 JeAed
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In the given political outline map of India locate and label the

following with symbols :

(A) The major coal field located in Chhattisgarh

(B) The state having the smallest area in India

(C) The international airport in Maharashtra

NM-40A+
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(11]

(D) The most tea producing state of India

(E) The Headquarters of Southern Railway Zone
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T-WA AT TN T €2
What do you mean by birth-rate?

TN T fawrs guais S R fsrmem ¢ ?
What is the score of the high human development index?

e Yo @iz few T af|m w aRa sum €2
Bhilai Steel Plant is based on which main mineral?

YA $ WS T 2011 B WO & SPER feat 6 ?
What was the population of India in Census, 20117

F-W1 WU ey aul w1 SR g 2
In which pollution causes of acidic rain?

yaifadH oA t?
Tin is found in which state of India?

oRwR & To v v A B el & am fafeg)

wien v A v s Eawe €2
What do you understand by population composition?

(1)

(1

(1

(1]

(1]

[Vat'i=1]
Write the names of two high density population districts in Chhattisgarh.

(3]
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wa-9 v SR @8 ¥ smrvm w1 ¥R-3 € (R dir)? [1+1+1=3]
What are the basic functions of the World Trade Organisation (any three)?

__ — e — e

NM-40 B+

131
avm-10 @ TR % Prefefen @7 frgsll W e i [Ya+%+1+1=3]
(37) dermE (%) dwf (7)) R
Throw light on the following three points of Suez Canal :

(a) Seaport (b) Length (c) Right

awr
OR

T e % Prefafe @ gl w e i
(37) weowE, (¥) wwg, (%) AfwR

Throw light on the following three points of Panama Canal :
(a) Seaport (b) Length (c) Right
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w-11 R Ry e e 8 T wEl § Iw A [1+1+1=3]

(37) wu Tnior s wfrey w5 fafe)
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Study the diagram given below and answer the questions :

(@) Name the given rural settiement pattern.
(b) In which areas do you find this rural settlement pattern?
(¢) Give one characteristic feature of this settlement pattern.

— e - —
e ——

NM-40B+ P.T.O.

[4]
WH-12 3 3R vivsn A #t A @@ e @ W anfe-ia v s
1 9vE year & ? (3]

What is the impact of rural-urban migration on the age and sex
structure of the place of origin and destination?
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Wt-13

W-14

WF-15

e wwit & viifia awdt F SR aang (B @)1 [Varlatat et ats=3)
Differentiate between compact and dispersed settlements (any three).

T it St g foed ge wma e ¥ faeg 89 %) aees [2+3=5]
Write the definition of Human Geography and explain the scope of
human geography.

YAifFRrT HAn A weifva fgia w v wivew fee fea?
SIS WHAY Bt A AT B T i) [1+4=5]

Who has given the theory of Demographic Transition first time?
Describe the demographic transition of three stages.

verqr
OR

e faeE #t dwean fRER e #1?7 3% 9N Wil #t =ren
HIfQ)
Who has given the concept of Human Development? Explain their
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—m-w TEaTE! TYER OE g qyaie @ F91 Aed § 2 Serand wEne agn
ooy gy ¥ iR FaRY (B ) | [2+3=5]

What do you mean by livestock farming and commercial animal
husbandry? Write the differences between livestock farming and
commercial animal husbandry (any shree).

Jagar
OR

s Fi & 25 Bt $iY A T3 v € 2 sty S wE
wiin FfY § % @7 s fafag)
What do you mean by Commercial Agriculture and Truck Farming

Agriculture? Write any three differences between commercial
agriculture and truck farming agriculture.

NM-40B+
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WHA-17  FA-TWR W o & 2 = 3 6 € e g we dfi faeee | o
gl vfir I gem € ? [2+3=5]

What is watershed management? Do you think it can play an
important role in sustainable development?
W-18  WRa ¥ wdwar Wi ¥ qvarq Fiy e # weegl Al w5 avlE
Hifoq | [1+1+1+1+1=5]

Describe the important strategies for agricultural development
followed in the Post-Independence period in India.

Haar

OR

iR & TR RvPT BRI AT, 7Y -3940 1 AV S|

Describe the use of the land adopted by the department of land

revenue in India.
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revenue in India.

av-19 YT ¥ TiEe ¥ wea a-a @ €2 @ i | avfm w5 T
FE! T qUA Hifag (g 77 | [2+1+1+1=5]

Which are the means of transport in India? Describe the factors
affecting rail transport (any three).
U-20  WUW & T e €2 vgEe R R S e §2 el o &
R & e fafeag) [1+1+1%+1%=5)

What is meant by pollution? How many types of pollution are there?

Write the reasons and diagnosis of any one pollution.
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0]
wr-21  feew & oorfiftrr e aefas F guig Ty fom faegeil #Y vewd aw

TITH AW A IR F ford [1+1+1+1+1=5]
(A) 3R TERY F HEQX A YABE AT 2N

(B) ¥ fae TR

(C) Tu-wmidrize Wormt w1 siftm ==

(D) T i vad gz
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In the given political outline map of the world, identify following

points and write their names in your answer-book :

(A) The country with largest area in Africa continent

(B) A megalopolis

(C) The terminal station of Trans-continental Railway

(D) An international airport

(E) A major sea port

NM-40B+
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P.T.O.

NM-40B+
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uvi-22 ouag ¥ fawifea amfam & freife =t vewfe oo 9% ™ v
IR-Yfa #§ fafax [1+1+1+1+1=5]

(A) Tl & Ft 7o 9gES 1

(B) Zdarel 1 TE-3aE WA

(C) werm e W ffifa sty v

(D) THWIg HI Sy

(E) oHWE &1 A 2 e

In the sign marked map of Chhattisgarh, identify the following and
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write their names in your answer-book :

(A) Main tributary river of Godavari River

(B) Iron-ore mines of Dantewada

(C) Dam project on Mahanadi River

(D) Power hub of Chhattisgarh

(E) Only one jute mill of Chhattisgarh

NM-40B+
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OR

I ¥ TerifrE SR artas § frafafea & va g @ S%dl %
Y A B :

(A) TG F TIQ TG FIFA IURH &

(B) WRA &1 WaQ HH {AGS arenl T4

(C) werre ¥ siaieia gar gE

(D) WA &1 WAty 91 IS T4

(E) ftroft o@ <iw =1 qeared
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In the given political outline map of India locate and label the

following with symbols :

(A) The major coal field located in Chhattisgarh

(B) The state having the smallest area in India

(C) The international airport in Maharashtra

NM-40B+
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(D) The most tea producing state of India

(E) The Headquarters of Southern Railway Zone
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3w ] [ s : 70
Time : 3 hours ) [ Maximum Marks : 70

f

fidyr () eimwEsmatmd i Rigaden 2 b
Instructions : All questions are compulsory. There are 22 questions.

(i) e W 1 A 7 T Sfvegaels v € wds v 1 s Pffa €
Question Nos. 1 to 7 are very short answer type questions. Each
question carries | mark.

(iif) v HUIE 8 ¥ 13 7% Fewda v €1 wds ye A 3 3w PadRa €
(TR ¥ w-dw sowe] 7% §)

Question Nos. 8 to 13 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

(v) Yo wahs 14 @ 20 % Qdawla v € W e s i PriRa €
(W B -y 150w 76 §)

Question Nos. 14 to 20 are long answer type questions. Each question
carrics 5 marks. (Maximum word-limit of answer is /50 words)

(v) TETEIS 10, 14, 15, 20 @ 22 ¥ siaftw fweg Ry ¥
In Question Nos. 10, 14, 15, 20 and 22 internal options are given.

#

NM-40C+ PTO.
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Te-1

e T-2

-3

-4

IAESAT T | A 7 qAga E ?
What do you mean by population migration?

frer o R e s S @R sE a2

What is the score of the low human development index?

R v s & g rE s am it ?
What is the raw material for cotton textile industry?

vRa ¥ fawee woE g Fe-wd?
Which is the broad language groups in India?

= daan W el 3K w5 W fEafag

Write the name of unit of sound intensity.

oG & TaQ w2 it wie m w2

What is the name of the biggest aluminium industry in Chhattisgarh?

s # fret wae gy ot € 2 T fafe

What are the different types of crop seasons in Chhattisgarh? Write

the name.

[1]

[1]

[1]

(1]

[1]

[1]

[Vat+'a=1]
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-8 AT NHFMTEAEL?
What is the significance of the age structure?

[3]

NM-40C+

(3]
WM-9  HUIRTE YT Hge S e e 2w ¥ fog =il wlitrs v ¥ ? (3]

Why is it detrimental for a nation to have negative balance of payments?

WH-10 I T J Frafafen @7 fargsil w v it [%t+Yat1+1=3]
(37) wETTE (%) v
(§) afwR
Throw light on the following three points of Panama Canal :
(@) Seaport (b) Length
(c) Right


https://www.studydiscuss.in

| TR H Freafafea @ fagsil W v et

(37) dzoTE (%) warf

(¥) IfewR

Throw light on the following three points of Suez Canal :
(a) Seaport (b) Length

() Right

wgR-11 4 Ry g fag # e vl & W QT [1+1+1=3]
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JJC 1]
- B
1
=
M

1
£)

T\
:H:JLE]c

(37) va Twitor wh e w51 e R

(7) Wafres s iR §?
(7)) ¥ hrey %) & frdear fafeg)

olC3
)
J [l‘ltau

I...Il-—_l

P.T.O.
NM-40C+
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Study the diagram given below and answer the questions :

(a) Name the given rural settlement pattern.
() In which areas do you find this rural settlement pattern?
(c) Give one characteristic feature of this settlement pattern.

WoT-12  T09 3R Elt F var & g8H SRV #i 9gEE St [1%+1%= 3]

Identify the main reasons for male and female selective migration.

WHA-13 AR o wE TR w3 wane (FE @) | [Vat+'%+Yat+Yat+YatVs=3)
Differentiate between rural settlement and urban settlement (any three).
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UYA-14  SEERi TYERY E A0 QYNeH ¥ 61 AR § 2 Serand SERo agn
ooy TyareA & 3R FaRe (FE @) | [2+3=5]
What do you mean by livestock farming and commercial animal
husbandry? Write the differences between livestock farming and

commercial animal husbandry (any three).

Haar
OR

HEATTaE F T 76 Wil Fi 71 3w € ? e $f @ w
Wit Ffe J Fg 7 s fafag)

What do you mean by Commercial Agriculture and Truck Farming
Agriculture? Write any three differences between commercial
agriculture and truck farming agriculture.
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;-15 v B w@aaa Wit ¥ yvar Fi faem @it weeagel Aifed w5 Fo
S| [1+1+1+1+1=5]

Describe the important strategies for agricultural development
followed in the Post-Independence period in India.

-40C+

(5]
arerar
OR
R V- PO BRI ST T, - IR A i
Describe the use of the land adopted by the department of land
revenue in India.
W-16  TREW A T A € 2 gEw AR TR & o €2 el o e &
R & e fafeg) [1+1+1%+1%=5]

What is meant by pollution? How many types of pollution are there?
Write the reasons and diagnosis of any one pollution.
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U-17 WA ¥ 9REgs & O FR-21 /¥ 2 @ e ) awika 70 @
FR®! & A Hifag (wE &) | [2+1+1+1=5]

Which are the means of transport in India? Describe the factors
affecting rail transport (any three).

UPT-18  TEA-HW YauR 31 ¢ ? 7 v | ¥ 6 1% gaq dwin e
ey it s wwa € ? [2+3=5]

What is watershed management? Do you think it can play an
important role in sustainable development?.

WH-19  WFE i &t IR faed ge aeE e % e @ 9 awemw) [2+3=5]
Write the definition of Human Geography and explain the scope of
human geography.
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WPH-20 TAIfHHIE Haw Q@ dafva fagia =1 wfiues wdwes e fean?
TAIfFF EHEY ! A TR I B

Who has given the theory of Demographic Transition first time?
Describe the demographic transition of three stages.

[1+4=5

Haan
OR

ora fae ¥ Seee fRe WRE $1? I 9R Wl F e
Hi |

Who has given the concept of Human Development? Explain their
four pillars.

e ————————_

NM-40C+ P.T.C
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wr-21  fava & oorifie der e ¥ guig 1 fre fagstl &t vee aa

FITH T AT IW-YRaw A fad [1+1+]1+]1+1=5]
(A) 3THIH! TR F1 TaQ qIT AR 60 39

(B) @ fae 7R

(C) Tiu-widtiea Yempl &1 3iftm ©vA

(D) & Uit war igel

(E) & 931 d30TR
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In the given political outline map of the world, identify following

points and write their names in your answer-book :

(A) The country with largest area in Africa continent

(B) A megalopolis

(C) The terminal station of Trans-continental Railway
- (D) An international airport

(E) A major sea port

- —

NM-40C+
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W-22 oHiae & fawifea arfaa ¥ frsifea <t et o sa& ™ g
IW-YRaw F fafay [1+1+1+1+1=5]

(A) TRt 6 % 7o weEE T

(B) Edaret &1 -3 @A

(C) weWd W fafifa sy s

(D) BTG T SHATYF

(E) oiwg & e I fire
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In the sign marked map of Chhattisgarh, identify the following and

write their names in your answer-book :

(A) Main tributary river of Godavari R;ver
(B) Iron-ore mines of Dantewada

(C) Dam project on Mahanadi River

(D) Power hub of Chhattisgarh

(E) Only one jute mill of Chhattisgarh

NM-40C+
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e ¥ TR dhreR wAfas o frefafen & var od ©E §6dl &
Y AqS H :

(A) BHETE F FaQ T A IUEH A

(B) YIRA I W&« 9 QA qiel T

(C) R ¥ el van s

(D) MRa &1 Halivs 99 IeH T

(E) wfiguit to@ S =1 qeAE™
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In the given political outline map of India locate and label the

following with symbols :
(A) The major coal field located in Chhattisgarh
(B) The state having the smallest area in India

(C) The international airport in Maharashtra

NM.4ANC+
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(11]
(D) The most tea producing state of India

(E) The Headquarters of Southern Railway Zone
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